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Exam One STAT 319 - Code A


KING FAHD UNIVERSITY OF PETROLEUM & MINERALS

DEPARTMENT OF MATHEMATICAL SCIENCES

DHAHRAN, SAUDI ARABIA
STAT 319: PROBABILITY & STATISTICS FOR ENGINEERS & SCIENTISTS 

Major Exam I, Summer Semester (043)

Time: 0700 - 0900 pm, Sunday 17th July, 2005

Instructor: Walid Abu-Dayyeh    

Student Surname: 
                       
ID#

Sec#:  
      Ser.#:             

	Q
	Full Marks
	Marks Obtained

	1
	10
	

	2
	8
	

	3
	9
	

	4
	8
	

	5
	15
	

	Total
	50
	


1. The time in minutes that forty workers needed to assemble computers were registered. The following frequency distribution was obtained.
	Class limits
	
[image: image1.wmf]f


	x(class midpoint)
	f * x
	cf

	20 - 24
	4
	22
	88
	4

	25 - 29
	8
	27
	216
	12

	30 - 34
	19
	32
	608
	31

	35 - 39
	5
	37
	185
	36

	40 - 44
	3
	42
	126
	39

	45 - 49
	1
	47
	47
	40

	Total
	n = 40
	
	1270
	


Then 

(a) Find the mean. (3 points)
Solution:   
[image: image2.wmf]6
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(b) Find the median. (3 points)
       Solution:  
[image: image3.wmf]20
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 implies that the median class is : 30 – 34. Then :
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(c) Construct the histogram for this frequency distribution. (4 points)        
[image: image24.png]19.5 245 295 345 39.5 445 495




2. Determine whether each of the followings is true or false. (2 points each)
(a) For left skewed unimodal data, the mean is greater than the median. False
(b) Outliers affect the range. True 
(c) The mean is the only measure with the property that the sum of deviations of the data about the mean is zero. True 

(d) The variance is a measure of location. False
3. The following are number of hours that a sample of university students spend in the library weekly: 3, 5, 2, 6, 7, 8, 10, 15, 19, 12, 10, 13, 18, 16, 4, 6, 8, 0, 10. Then:
(a) Find the mode of this data. (1 points)
The mode = 10
(b) Find the coefficient of variation. (4 points)
Solution:  
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(c) Sketch the stem and leaf plot with stem unit = 5.  Comment on the shape. (4 points)
        Stem and Leaf Plot
	0    0234 

	0    566788 

	1    00023 

	1    5689 


Skewed to the right
4. A box contains 7 defective and 13 good light bulbs. . If two light bulbs selected at random, then find the probability that both of them will be defective if sampling:

(a) With replacement. (4 points)
Solution:   
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(b) Without replacement. (4 points)
Solution:   
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 5. If the sample space 
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Let the events 
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     Solution:   
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(b) 
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Solution:   
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(c) 
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Solution:
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(d) 
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Solution:   
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(e) Are B and C independent? Why? (4 points)
Solution:    
[image: image23.wmf]36
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